English - Installation Instructions for QDC-200
with DROP PLATE

Incorrect installation adjustment
could cause damage or injury.
Read and follow instructions carefully

dormakaba 4

PULL SIDE (Regular Arm Installation) DROP PLATE

_ 1/4-20-L14mm Screws

@6.1mm Wood Screws

" 1/4-20-L12mm Screws

1/4-20-L12mm Screws

5-1/2 1-3/4 1-1/8
(140) (44.4) (28.5)
:< A > Eﬂ 2
: < 4(101.6) —pia— 4(101.6) —»<— 4(101.6) >
: (ﬁ’:) ® 8Q00107
T —— (8)
. ‘
| -
¢ Hinge or 5-1/2 e 1-3/4 1
Pivot (140) N (44.4) 25 ﬁ_‘m%q
| S =
1 = A
I I —12(3048) > (
e = : i
' o =
! H

—— A — pe— 4{101.6) —pie— 4(101.6) —»e— 4(101.6) —»

@ 8Q00107
| 8Q00108

1/4-20-L14mm Screws

"~ @6.1mm Wood Screws

5/16

RIGHT HAND DOOR SHOWN, LEFT HAND OPPOSITE.

(8)
- Do Not Scale Drawing

- Dimensions: inches(mm)

Inches (mm)
= - Door Opening Dim. A
to 100° | 7-1/2  (191)
101° to 130° | 6 (152)
131°t0 180° | 4-1/2  (114)

PUSH SIDE (Top Jamb Installation) DROP PLATE

l«— A
I

e

4(101.6) —>— 4(101.6) —— 4(101.6)
é} 8Q00105 M

1 7'y 1
! AT e — T (25)
o o
i oy | 4 |
; L R 1-3/4 se | (102
P 5-1/2(140) —») (44.4) 8)
G Hinae or | | v
Pivot
4 A s 4{101.6) —»a— 4(101.6) > 4(101.6) ] 58
: -1 8Q00108 (16)
i f@ ,,,,,,, T T T ‘ v
—_— bt @® 8Q00107 O A—— 1
i o o
i = — | 3-18
i ., 1-3/4 516 | (79
N «——5-1/2(140) —» (44.4) (8)
~ 1

[& |

LEFT HAND DOOR SHOWN, RIGHT HAND OPPOSITE.

A
- Do Not Scale Drawing

- Dimensions: inches(mm)

@6.1mm Wood Screws
1" 1/4-20-L14mm Screws

1/4-20-L12mm Screws

Inches (mm)
Dim. A
7-1/2 (191)
6 (152)
4-1/2  (114)

Door Opening
to 100°

101° to 130°
131° to 180°

PUSH SIDE (Parallel Arm Installation) DROP PLATE

- Do Not Scale Drawing
- Dimensions: inches(mm)

I« C »e D » 1/2
O (13)
1/4-20-L14mm Screws |‘ ' E _»!
-~ @6.1mm Wood Screws T—‘L e ] A
I x® T
1/4-20-L12mm Screws : .
- i
q Hinge or Pivot o STANDSRD ARM, HOLD OPEN ARM
! % CUSH ARM
Inches (mm) :¢ A e 4 9 4 < 4
- Door Opening | Dim.A | Dim.B | Dim.C | Dim.D | Dim.E | Dim.F .: L0y £1.9) (101.6)
4 o il et et M
as o | 3-3/4 | 1-3/4 | 9-1/2 y — 7
a hll
<Zt g:: o 120 (95) (44) (241) 2-3/4 2 7/16 il H—B
= [
b . o 1-174 | 1-3/4 7 (70) (51) (11) i ] v
121710180° ] ‘a9 | wa) | a7 i ® @ ® —_
! s
ly 8Q00105 ©
ul —
\:_J,' 8Q00106 : - '
LEFT HAND DOOR SHOWN, RIGHT HAND OPPOSITE.
DORMA-QDC-200 Series T93413_A https://dhwsupport.dormakaba.com/hc/en-us 08-2021 1




Frangais - Instructions d'installation pour QDC-200

séries avec CALE DE FERME-PORTE

1

(e ) L'ajustement ou l'installation incorrect a pu causer
des dommages ou des dommages physiques. Lisez
et suivez les instructions soigneusement.

COTE D'OU L'ON TIRE (Installation du Bras Régulier) CALE DE FERME-PORTE

5-1/2 > 1-3/4 1-1/8 A=
(140) (44.4) (28.5)

A f— : =T,

! ,  * 41016) —»<— 4(1016) >e— 4(1016) i<l 1/4-20-L14mm Vis

I; R ‘ 3 @6.1mm Vis pour le bois

! 3/4 @ S A

8Q00107 | ¥ o
(19) o] @ < ~1/4-20-L12mm Vis
al N
| =
Charniére B 5.1/2 R _ 1-3/4 1 1/4-20-L12mm Vis
ou pivot " (140) i | (44.4) [ (25)

: [© | 7y

' , ——— 12(304.8) | # | 1/4-20-L14mm Vis

i 2.5/8 - H=1a]" @6.1mm Vis pour le bois

|

! (67)

@ 8Q00107 @ L Dim. A

i T 8Q00108 5(/;)5 t0100° | 7-1/2  (191)

e—— A — p«— 4(101.6) —>«— 4(101.6) —»>l«— 4(101.6) —»| - Ne pas dessiner a 'échelle 101° to 130° | 6 (152)
PORTE AVEC LA POIGNEE A DROITE MONTREE, L'OPPOSE DE LA POIGNEE A GAUCHE - Dimensions : Pouces (mm) 131° 10 180° | 4-1/2  (114)

COTE D'OU ON POUSSE (Installation sur le montant supérieur du cadre de porte) CALE DE FERME-PORTE

«— A 4(101.6) —><— 4(101.6) —><— 4(101.6) .
! — ‘ % i @6.1mm Vis pour le bois
' ® 8Q00105 ® o - -
L — Y (25) 1/4-20-L14mm Vis
& © 4
T e ay, T (102) |
L " - 1'3/4 5/16 1
i «———5-1/2(140) —»| T (44.9) (8) 1/4-20-L12mm Vis
Charniére 3 i ¥ -l
ou pivot -L
:<— A ——»«— 4(101.6) —>l«— 4(101.6) —»<«— 4(101.6) —ﬂ 58
: f .| 8Q00108 A . “G’J
i ¥ 2 T 4
FAp——— @ @ 8900107 O A y Pouces (mm),
;In e ) s 2178 Quverture dela porte Dim. A
e LT 1-3/4 516 | “(7) t0100° [ 7-1/2  (191)
i —— 5-1/2(140) —»] (44.4) ®) ! 0710 130° | 8 (152)
: l l - Ne pas dessiner a I'échelle - -
PORTE AVEC LA POIGNEE A GAUCHE MONTREE, L'OPPOSE DE LA POIGNEE A DROITE - Dimensions : Pouces (mm) B1"te 180” | 412 {114

COTE D'OU 'ON POUSSE (Installation sur le montant supérieur du cadre de porte) CALE DE FERME-PORTE

- Ne pas dessiner a I'échelle
- Dimensions : Pouces (mm)

1« C > D > 1/2
O (13)
1/4-20-L14mm vis .‘ <« E »
s | Y
@6.1mm vis pour le bois |—"; Ty 1| T T
| X®
- J——— K
1/4-20-L12mm vis I F
- |
q Charniére & BRAS STANDARD
. oupivot % BRAS CUSH
Pouces (mm) ) 4 4
><
o Oueerture Dim.A | Dim.B | Dim.C | Dim.D | Dim.E | Dim.F Yooy (1018)
e delapote | | L e e e e e Lo
o<
<35 o| 3-3/4 | 1-3/4 | 9-1/2
B2 1207 g5y | 4a) | (241) 2o | 2| e O i B
» . o 1-1/4 | 1-3/4 7 70 51 "
121710180° | )" | 4) | (179) ©® ¥ 516
(8)
8Q00105
8Q00106 —
PORTE AVEC LA POIGNEE A GAUCHE MONTREE,
L'OPPOSE DE LA POIGNEE A DROITE
DORMA-QDC-200 Series T93413_A https://dhwsupport.dormakaba.com/hc/en-us 08-2021 2




Espanol - Instrucciones de instalaciéon para QDC-200

series con LAMINA DE CONTACTO

A

La incorrecta instalacion o el ajuste
incorrecta podria causar dafio o lesion. Lea
y siga las instrucciones cuidadosamente.

<« 4(101.6) —»a— 4(101.6) —»

5-1/2 . , 1-3/4
(140) T T (44.4)
A (Ea—

«— 4(101.6) —»

LADODE ESTIRAR (InstalacionNormaldel Brazo) LAMINADE CONTACTO

1-1/8

=

- 5

{28.5)
v

—__ 1/4-20-L14mm Tornillos

@6.1mm Tornillos

i para la madera
| ® saootor Lsre .
() ~1/4-20-L12mm Tornillos
. B
|
G Bisagra B 5-1/2 1-3/4 1 1/4-20-L12mm Tornillos
o Pivote (140) - | (44.9) (25)
! &
i = 511" )
i 12(304.8) > ( 1/4-20-L14mm Tornillos
T e m/m———————r D H-! @6.1mm Tomillos para la madera
| 2-5/8 o = fi P
i (67) o Pulgadas (mm)
Y @ 8Q00107 =~ L _ | AperturadelaPuerta Dim. A
. 8Q00108 J 5(’;)6 10100° | 7-1/2  (191)
—— A — »«— 4(101.6) —»«— 4(101.6) —»l«— 4(101.6) —» ° °
- El Grabado No Esta a Escala 101710130 | 6 52
SE MUESTRA LA PUERTA DE ORIENTACION DERECHA, LA PUERTA DE ORIENTACION IZQUIERDAES AL REVES - Dimensiones: Pulgadas (mm) 131° 10 180° | 4-1/2 (114)

e— A ——>— 4{101.6) —»<«— 4(101.6)
|

LADODE EMPUJAR (Instalaciénde la Parte Superiordel Marco) LAMINADE CONTACTO: 3146,3148,3546
e 4(101.6) —»

@ é T 1
A 4 (25)

[©]

SE MUESTRA LA PUERTA DE ORIENTACION IZQUIERDA , LA PUERTA DE ORIENTACION DERECHA ES AL REVES

! —f® ~@® 8Q00105
J,._a L..L _______ A
o o
& > | 8
1-3/4 5/16 (102)
i <« 5-1/2(140) —» (44.4) ®)
q Bisagra E>=| ¥
o Pivote
:<— A ——»ie— 4(101.6) —>«— 4(101.6) —»«— 4(101.6) ﬂ 58
: [T = 8Q00108 (16)
> 3 T A 4 4
S @ @® 8Q00107 - E [
b 5 =
i TR = o
i -« 5-1/2(140) —»| (44.4) ®)

v

- El Grabado No Esté a Escala
- Dimensiones: Pulgadas (mm)

@6.1mm Tonillos para la madera
" 1/4-20-L14mm Tornillos

1/4-20-L12mm Tornillos

Pulgadas (mm)

Apertura de la Puerta Dim. A
to100° | 7-1/2  (191)
101° to 130° | 6 (152)
131° 10 180° | 4-1/2  (114)

LADO DE EMPUJAR (Instalaciénde la Parte Superiordel Marco) LAMINADE CONTACTO

- El Grabado No Estéa a Escala
- Dimensiones: Pulgadas (mm)

«—— C— >« D > (1/2)
Q 13
1/4-20-L14mm Tornillos ,‘ '« E
- @6.1mm Tomillos para la madera :—‘ T [4”‘( ra T i
I xe x| ¢ T
1/4-20-L12mm Tornillos : F
o I
G Bisagra *
. o Pivote x
B Pulgadas (mm) L A > 4 4 4
Apertura Dim.A | Dim.B | Dim.C | Dim.D | Dim.E | Dim.F ' (LG (101.6) (101.6)
de la Puerta ) ) ) ) ) ] e A R e
o [l
o< .| 3-3/4 | 1-3/4 | 9-1/2 i — TF |
N2 1012071 g5y | 4a) | 240 | 2-34 | 2 716 i B
o - - 70) (51) (11) M v
S5 | 1210 101800 | 1-1/4 | 1-3/4 7 ( " ®
i (32 | (4 | (78) ) ® @ ¥ i
| .
i S @
ly 8Q00105 o
11N} R i
m 8Q00106 -
SE MUESTRA LA PUERTA DE ORIENTACION IZQUIERDA,
LA PUERTA DE ORIENTACION DERECHA ES AL REVES
DORMA-QDC-200 Series T93413_A https://dhwsupport.dormakaba.com/hc/en-us 08-2021




ENGLISH - QDC-200 DOOR CLOSER ADJUSTMENTS

CLOCKWISE FOR Use 4mm Hex Power INCREASE For assistance or warranty information:
FULL NUMBERS (+) Wrench For —— Adjusting Call 1-800-392-5209 or visit
P this Adjustment Screw DECREASE https://dhwsupport.dormakaba.com/hc/en-us
4mm
@ “— Wrench
COUNTERCLOCKWISE FOR LEV _d
NEGITIVE NUMBERS (-) l
POWER ADJUSTMENT CHART | — 2 /
DOOR | FULLTURNSOF DOORLEAFETH | APPLICABLE /
CLOSER| POWERADJUSTING DOOR BACK CHECK DELAY ACYION LATCH SWEEP
SZE SCREW INTERIOR | EXTERIOR | \weigHT Adjusting Valve  Adjusting Valve Adjusting Valve  Adjusting Valve
(SWING OUT)
i W " 33~56 LBS INCREASE
1 5 2°8im) | 28°07im) | RS Py
" ; : 56-99 LBS @
2 3 36"(0.91m) | 32"(0.81m) (30~45 Kg) \ ,E e
P . 99~1431BS DECR
3 0 (PRESET) 42°(1.07m) | 36"(0.91m) (45~55 Kg)
. 2 143-187LBS >
4 +3 48"(1.22m) | 42"(1.07m) (65-85 Kg) . ////// ~
~ ; 187~264 LBS o
5 +7 54°(1.37m) | 48"(1.22m) (85~120 Kg) \. =~
" . 264~330 LBS
6 1 88°(147m) | 547(1.37m) |{400 150 Kg) CLOSING CYCLE OPENING CYCLE
FRANCAIS - QDC-200 AJUSTEMENT DU FERME-PORTE.
DANS LE SENS DES Pour de I'aide ou des informations sur la garantie: Vauillez
AIGUILLES D'UNE MONTRE Utilisez uneclef ~ Puissance AUGMENTATION appeler le 1-800-392-5209 ou visiter https://
POUR LES VALEURS a six pans pour Vis dhwsupport.dormakaba.com/hc/en-us
POSITIVES (+) cet ajustement  D'approche DIMINUTION
4mm

©

<+— Clef a six
pans
—

DANS LE SENS CONTRAIRE DES ©)
AIGUILLES D'UNE MONTRE o =/ 6
POUR LES VALEURS . P,
NEGATIVE (-)
TABLEAU D'AJUSTEMENT DE LA PUISSANCE |
TAILLE | PLEINS TOURS LARGEUR APPLICABLE OUVERTURE MAXIMALE ~ RALENTISSEMENT ENCLENCHEMENT  BALAYAGE
DE DE VIS DE DE FEUILLE DE PORTE POIDS Valve d'ajustement Valve d'ajustement  Valve d'ajustement \Valve d'ajustement
FERME-| REGLAGE DE EXTERIEURE | APPLICABLE
PORTE PUISSANCE INTERIEURE | OSCILLATION | DE PORTE
DEHORS
PLUS LENT AUGMENTATION
1 -5 32"(0.81m) | 28"(0.71m) 3135‘5350'-1‘(35 /@
OUVERTY,
= i . 56~991BS | =+ = Re.
: e Rt} | RO | (Gomask) PLUS RAPIDE DIMINUTION la,
3 |0 (PREREGLEZ) | 42" (1.07m) | 36"(0.91m) | 31820 2 A
4 +3 48"(1.22m) | 42" (1.07m) ’?ggjggk;s é‘,‘ >
+7 54"(1.37m) | 48" (1.22m) [\37"264 L85 ol . )=+~
6 11 58" (1.47m) | 54" (1.37m) (2;3245_3135?0L’55 CYCLE DE FERMETURE CYCLE DE OUVERTURE

ESPANOL - QDC-200 AJUSTES DEL CERRADOR DE LA PUERTA

EN LA DIRECCIION DE LAS - Tornillo Si desea ayuda o informacién sobre la garantia:
Sggiﬁss?i%ﬁéi%? PARA th"m la :'m s @AUNENTO llame al 1-800-392-5209 ou visite
exagonal para . ~
COMPLETOS (+) asie sjusta DISMINUCION https://dhwsupport.dormakaba.com/hc/en-us
A 4mm
@ <—h Liave ‘
exagonal
EN DIRECCION CONTRARIA
A LAS AGUJAS DEL RELOJ o =/
PARA VER LOS NUMEROS » f
NEGATIVOS (-) /
TABLA DE AJUSTE DE FUERZA |
TAMANO VUELTAS ANCHURA APLICABLE COMPROBACION TRASERA ACCION RETRASADA TRABA BARRIDO
DEL COMPLETAS DEL DE LAHOJA DE PUERTA APLICABLE Valvula de Ajuste Valvula de Ajuste Valvula de Ajuste Valvula de Ajuste
CERRA- TORNILLO DE EXTERIOR | PESODELA
DOR A-'{}d&‘étégﬁ INTERIOR | OSCILACION | PUERTA
HACIA FUERA MAS DESPACIO AUMENTO
1 -5 2" 081m)|  28"(0.71m) | FE5R50S @
2 -3 36"(0.91m)|  32"(0.81m) ?36(;—-94SSLKBQS) AT
0 . . 99~143 LBS
3 |(PreproGRAMADO)| 42" (1:07m) | 36"(0.91m) |45 55 g
4 +3 48" (1.22m)|  42"(1.07m) ‘?25“];357 kgB)S
5 +7 54"(1.37m)| 48" (1.22m) 1(%:%% ,L(%? v !
6 +11 58" (147m)|  54"(1.37m) (2;3;(;?13500Ll<8g13) CICLO DE CERRADO
DORMA-QDC-200 Series T93413_A https://dhwsupport.dormakaba.com/hc/en-us 08-2021 4






